PMC PRACTICE TEST 07

CHEMISTRY

Q.1 A mole of a substance contalns particles

A.62x%]0% B. 6.22x10%
C.6.02=10" D. 6.5%10*
Q.2 Which alkali metal only combine with Nitrogen?
A Li B. Fr
C.Cs D.K
Q.3  The elements having partially Mled d and [ orbitals are called as ?
A. Transition elements B. d-Block elements
C. f-block elements D. All of these
Q4  When sudden expansion of gases takes place, cooling occurs. This Is called
A. freezing eflect B. Joule Thomson effect
C. Boyles effect D.1. I‘l'.mn elfect
Q.5 The presence of several fine lines In line lpu'trum !hﬂ“l the presence of
A. Shells A LB Enﬂg} levels
C. Sub shells D. All of these
Q.6 In which phase $N: reactlons are I':Wnred" i}
A. Solid 7 N "H.'Liq:uid

C. Gas y I( “DoAllof these O
Q.7 How many resonance structures ol benzene nu\putslhle?
A.2 1 B.3

C.6 | \ D.4 —7
Q8  Aldol condensation tnlr.t's pl::e In'the prt-smce of L7
A. H:50. ) _ ‘,\‘ K:CHO'!""
C. NaOf \ “UD. O
Q9 In Inn Electron Methaod anal:ndng. er[u:{'Inm are
.‘. Written wlth Oxidation numhc:s of L"onsuh.'tcnts
B. Sp\I‘i into two half mr:hans '
C. Only oxidation part'is wntlm l'
D. Only Reducing part is wn!t-.:ﬁ
Q.10 Enthalpy :hange ot‘sulullnn of Na:COslsa reactlon?
A. Exothermic reaction- / B. Endothermic reaction
C. Spontaneous mchun D. Nonspontaneous reaction
Q.11 Inaluminum nﬂde. lons are present In the ratlo 2:3, Its formula In

AL AlIO B. AlLO
C. Al:O; D. ALO:
Q.12 Phenol is also called as?
A.. Carbonic acid B. Carbolic acid
C. Acetic acid D. Hydroxy acid

Q.13  Alkyl iodides cannat be prepared directly by the halogenation of alkanes
because?
A. lodine reacts slowly
B. lodine reacts reversibly
C. I formed reduces alkyl iodide again to starting material
D. All of these
Q.14 Who introduce the concept of macromolecules?
A. Runge B. Max Well
C. Staudinger D. None of these
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Q.16

Q17

Q.18

Q.19

Q.20

Q.21

Q22

Q23

Q24

Q.26

Q27

Q.28

Il a double bond Is present between two carbons then this class of compounds
in called as ?

AL Alkapes B. Alkynes

C. Carbonyl D. Alkenes

Which of the following Compound Is not reduced by NaBH.?

A. Acelaldehyde B. Acetone

C. Carboxylic acid D. Alkene

Equilibrium constant has

A_Units B. No Unils

C.Both A and B D. A negative value
NaOH is named as caustle soda because

A. It corrodes the organic tissues B. It is used in soda water
C. It reacts with chlorine gas D. It reacts wilh fats 1o form soap
Acetaldehyde oxidation will lead to formation of

A. Acelic acid B. Butanoic acid

C. Propanoic acid KD Ester

A1 0°C what Is the physical state of water?

A lce LE! qumd

C. Vapour D “Both ice aud llqu:d
Acyclic hydrocarbons are also called as_ 9>

A. Closed chain hydmca:buns LB. Dpen chmnh}rdmmbons
C. Ring compounds ‘._f '( D, Ahn:},fr:lm cnmpcmnds
How many molecules of l[:a ds in acetylenc (o form ethane?

A1 /

C.4 yd ! ] :

Rate nl'renctlun hn:

A.No units N _ B:Unit of Moles/dm’
C. Uit as Moles /litre D. Unif as Moles/dm’s"
"*ﬂiru‘éren Nz has numh-er l:lfl!ler:lrnns, prﬂlnns and neutrons
A739 N BT

Capdla DU\ | /D. 14,14,15

Protelns :Isn confaln hond.l'.ng

A. Covaléil™ J / B. lonic

C. Hydrogen \~____A' D. Metallic

Energy In forma , on'of a_crystal lattice Is

A Absorbed B. Released

C. Dependent on Crystal Size D. None of these
Enthalpy Is the sum of internal energy

A. Work done B. Entropy

C. Polential Energy D. Kinetic Energy
Human body contalns kind of proteins?

A. 60000 B. Almost 10000

C. 5000 D. 200

The arrangement of sub shells or orbitals is according to rule
AL 2(1+1) B. 1

C.ntl D. 2(n+l)

In non-polar molecules, the strength of London lorces depends on number of
A. Moles B. Molecules

C. Aloms D. All of these
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Q31

Q32

Q33

QA

Q37

Q.38

Q39

Q.40

Q.41

Q.42

Q.43

Q.44

Q45

Atomle radll can be determined by measuring the distance b/w centers of

____aloms

A. Opposite B. Adjacent

C. Parallel D. Equal

An atom Is composed ol electrons, protons, neutrons and

A. Hyprone B. Neutrino

C. Anti-neutrino D. All of these

Which of the following Is typleal transition metal?

A Sc B.Y

C.Cd D. Co

The reaction In which a molecule is removed from a compound but no
addition takes place Iscalledas_____ 7

A. Substitution reaction B. Eliminalion reaction
C. Addition reaction D. Replacement reaction
Tautemerlsm involves the transfer of ?,f

A. Electron B Cﬂthﬂl‘l nlom

C. Functional group H—a Ium

Which of the following catalyst Is uuﬁ }nr the preplral[un ol acidic
anhydrides? "

A. KCr:04

C. H+H:0

Which of the following mmpunnﬂ shows !ll'ﬂll" H—Ennﬂ.h:lg 'H'Illl water?
A CHs 1 II L0

c.chocHs /| \ D. C:HOH~—

Spectromelry Is uud when rmtants and producis }Il:l!nr?

Al Ullr.w:ulel radmtu:ms N '| ~ _R -H"‘" vm:blcmdmuﬂu

C. lufmrcd r:h:lnl.mu A N \! - B t?r[these

“’hirh ol the [nllnwing rﬂ:ﬂnn used tn-h::v_;:t; the position of double bond
Il:l Ihe compound? :

!L Dehvdrnhnna-"“_"‘w.\ = JB. Ozonolysis

C. Mn:lmvnil(ofs ud-:hmm h | D. Oxidation with KMnO,
Which of the l'ullnwing l:nm]umnd is present in camphor and menthone?
J\_Mdeh}?ﬂe I B. Alcohol

C. Esters ~ / ' D. Ketones

In a galvanic cell Copper.compartment get net negative charge due to arrival
of r
A. Free charge from zinc sulphate solution B. Eleciron

C. Protons D. Zinc Ions

Heat absorbed by a substance at constant pressure Is equal to__?
AAG B. AH

C.AE D. AH-AE

The last subshell of alkaline earth metals

A 2s B.ls

C.2d D. 3d

Phenol Is llquid?

A. Dense B. Hard

C. Deliquescent D. Intermittent

When two carboxylle aclds are strongly heated in the presence of P:0s, which
product is formed?

A. Acid halides B. Dimer
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C. Acid anhydride D. None of these
Q46 The enzyme which Is used In treatment of cancer In children?

A. Thrombin B. L- asparaginase
C. Both D. None of these
Q.47 At which temperature water has maximum density?
A 2°C B.4°C
C.0°C D. <0°C
Q48 The sum ol molé lractlon of the gases In a mixture of gases [s
A. Always greater than 1 B. Always smaller than |
C. May be equal or less than | D. Always |
Q49 Atequillbrium If the concentration of product Is increased reaction will
proceed to
A. Forward Direclion B. Backward Direction
C. Remain Undisturbed D. None of these
Q.50 Change In volume of a system depends only ypurn
A. Tnitial condilions B. Final Conditions
C. Initial and final conditions “D. Path'of the reaction
Q.51 According o theory, aloms 'i\‘trt the I.Illli!:l:m Pparticles that cannot
be divided further. zf ' )
A. Bohr's h B Rl;rlhﬂrl'ﬂrd'
C. Dalton's / D Cannizzaro' 5-_ N

Q52 19.8 g of sulfurlc acld dlssnh ed In excess qu:m]t; of water, It will yield

moles u[‘hytlruﬂen Iun (H") and mu‘le nl'sulphntelli;s (503%)
A.01,02 \! Bn:n.a“::

C.02,04 £
Q.53 lanthanides nml 1r:llnides rescmhll: in?- .
A. Tonization state % \‘ T B Dmdanon stale
C. Heﬂmmr: L‘I:Inﬂguratmn D Furm.‘slmu of complexes

A.. ‘.‘-“’ntcr can beadded . “_ == 7B.H+ ions can be added
| / D. OH ions can be added
A_ lonie Y |
Q.56 All the three :ﬂes ‘and Ilu.'!e angles are of unequal length sind none of the
C. Telragenal system D. Monoclinic system

C:BothAandB
B. Non ionie
C. Non cov a_lenl S y
angle is 90° ‘,.
BIOLOGY

Q54 Fﬂr h:ll:lnl:lng oxygen and hl’ﬂrﬂgﬂn atoms In nl:llis or neutral solutions
Q55 Organic compounds are | |
D. Covalent
A. Cubic system B. Triclinic system
Q.57 Choose the reglon/s of spinal cord:

A Cervical B. Thoracic
C. Lumbar D. All of these
Q.58 Which of the following Is not the function of endoplasmie reticulum?
A. Transport of mnlerial B. Mechanical support
C. Synthesis of conjugated molecules D. All of these
Q59 Centipedes belong to class of arthropoda.
A. Arachnida B. Insecla
C. Cephalopoda D. Myriapoda

PMC PRACTICE BUNDLE 1 TEST O7 PAGE 4 OF 17

Scanned with CamScanner




Q.60 What Is the strengthening material of the prokaryotlc cell wall?
A. Cellulose B. Chitin
C. Silica waxes and lignin D. Peptidoglycan or murein
Q.61 Which one is not the characteristic of Kingdom Anlmalia?
A. All animals are ingestive heterotrophs
B. All animals are cukaryotes
C. It is largest kingdom
D. All animals develop from the dissimalar gameles
Q.62 Sperms of liverworls, mosses, ferns move towarids archegonlia, in response to
nucleic acld released by the ovom. This Is an example of?

A. Chemotropic movement B. Chemonastic movement
C. Haplonastic movement D. Chemotaclic movement
Q.63 Adaptation of traits to better [l a niche Is known as which of the lollowing?
A. Polymorphism B. Gene linkage
C. Specialization D. Rr:pllcmmn
Q.64 Coccobacillus has a shape simllar to thl:h of the following?
A Egg "B.Rod
C. Ball D. None pfthese
Q.65 Compound Microscope was first :m-d !lj" —y A\
A. AV, Leeuwenhoek B Pash:ur -
C. Janssen and Hans / L D None nf 1]:&5& h
Q.66 Nicotinamlide adenine dinucléotide Is an tnmple of:
A. Coenzyme | B. Hulueuzme _
C. Cofactor /"l \" D. Apoenzyme

Q.67 The loss of [lqnl:l_vh he hydathodes ls called:
A. Ascent of sap \\ \\B ]‘Iasn‘mlvs:s

. Immbmu'ﬁ \ Wb:cannon
Q.68 H:rp-'e's slmple:cs Is tnusrnl br w}d:h \1rus" /

ﬁ.)‘u!enuvmls N B. Pox virus

o I.nﬂuf:nzzl szs"“\ —-T/-D Herpes virus

Q.69 Two spcdu can avold mmptltl[an. and better use the environment’s

resources bﬁmﬂpy[ng different? <

A. Adaptations | B. Polymorphism

C. Niches ~ 4 D. Specialization
Q.70 Glycolysls takes{p ace In?

A_Nucleus Y B. Cytosol

C. Mitochondria D. Ribosomes
Q.71 The pleural membranes cover which organ?

A. Kidney B. Heart

C. Brain D. Lungs
Q.72 Which method Is of asexual reproduction?

A. Sporulation B. Fission

C. Apomixis D. All of these
Q.73 Out of 31 pairs of spinal nerves, how many pairs of coceygeal nerves are

there?

Al B.5

C.10 D. 12
Q.74 ‘What is the ma]or cell infected by the AIDS HIV Virus?

A. B lymphocyte B. T lymphocytes

C. Cancer cells D. Stem cells
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Q.76

Q.77

Q.78

Q.79

Q.80

Q.81

Q.82

Q.83

Q.84

Q.86

Q.87

Enzyme that are Integral part of ribosomes are Involved In the synthesls of
which of the following molecules?

A Lipids B. Proteins

C. Carbohydrales D. All of these

Skin colour in man is controlled by how many pairs of genes?

Al B.2

C.3 D. None of these

Embryo of a turtule, mouse and human show

A. Comparative embryology B. Distinct differences

C. Vestigial organs D. Anzlogous structure
Monesynaptic refers to the presence of how many chemlcal synapse/s?
Al B.2

C.3 D.4

Glycogen is how glucose Is stored In the homan body. Where Is It most
abundantly found? /

A. Liver B Muscl:s

C. kidneys “D. BoiA and B

Catalysts that increase the rate of hluluglcnl :hemlﬁl reactlon are called?
A_ Proteins 4 ‘HB ~“Vitamines,

C. Enzymes <D. hﬁn?nﬁgx\

The optimal pH in which Ilte énzyme Lln;:se I'um:llnus Is2-.

A LS / | Bads,

C.55 D. ?5\ -
The disease :haﬂ:tirﬁzud hj e breakdown of alveolt is called:

A Asthma B. Tuberculosis/”

C. Emphysema h D.Aand B

The dnrnl ruut ursplmil :urd'h: — b

Al Srnsury " B. Mofor

C'.. ML‘LEd ' D.All A. B and C are corect
]]lhﬂl:l 5 Theur;r nl’mluliun ll‘l' : Selection Is based on all of the
folllrn'lng pustulatts H_Enept" \ |

A. Some individunfs are more successful in surviv ing and reproduction than
—

others '

B. Individuals 4wlh11:1_yupu!aﬂnu are variable

C. The survival ‘an& rcprnducnon of individuals is not random

D. The survival aud rfpruducnun of individuals is random

Most multicellular’s organisms are which of the lollowlng?

A. Haploid B. Diploid

C. Single nucleus D. None of these

A plant cell wall is mainly composed of which of the following?
A. Protein B. Lipid

C. Cellulose D. Starch

What is the definitlon of "fitness™ in terms of evolutlon?

A. The organism's ability to attain resources while in competition with other
organisms of its species

B. The organism's ability to attract the most mates

C. The organism's health

D. The ability of an organism to contobute ils genes to futire generations
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Q.88

Q.89

Q.90

Q.91

Q.92

Q.93

Q.97

Q.98

Q.99

Which of the following statements Is correct distinctlon between autotrophs
and heterotrophs

A. Only helerotrophs require chemical compunds from the environment

B. Cellular respiration is unigue lo heteroirophs

Conly heterotrophs have mitochondria

D. Autotrophs but not heterotrophs can nurish themselves begining with nutrients
that are entirely inorganic

The Nuld mosale model of plasma membrane proposes that membranes are:

A. Solid B. Semi-solid

C. Fluid D. Liquid

A gene peol Is disturbed by which of the following?

A. Emigration B. Immigration
C. Pan migration D.BothAand B
Which cells secrete pepsinogen?

A. Mucous B. Panclal

C. Zymogen D. Dtynuc

How does the electron transport system gcnrrah: ATP?

A Symbiosis B. Cheml}smnsm
C.Bothaandb D) ‘Nune nfth\’se

Which of these processes Is lhe means bvwﬁll:h a h;lr:tnrlnm can directly
uptake and Incorporate I'oreign DNA l'rnm the em‘irnnment ln\!‘o Its genome?
A. Transduction . B: Tm.ns formation 'j»

C. Binary fission P A | D. Cﬂn_] uga[mu =

Glottis is lined with? |

A.Plasma mcmﬂmué.. \ ' B. Mu::ﬂus I;:éh?mne
C. Mening "‘x ; \, D Epllhchal fhembrane
An 1|:|5an mu[efulu ls mnr.lc upi'nf hmrmn}’ pelypeptide chalns?
A4” B. ?/

C. 3 D.-

Whlch prnduﬂ.h formeil when cnrhnl Joxide combines with amino group

of haemoglobin? o) 1/

A
.-,

A Carbpxyhenmglﬁﬁnh B. Plasma proteins

C. Bicarboiale jons 1B D. Histamines

According to lock and key model the substrate acts as a?

A. Lock \\"“'—‘J-’ B. Key

C.Bothaandb D. None of these

How many thin Mlaments are arrayved around each thick Mlament within a
sarcomere?

A.2 B.4

C.6 D.8

The functional parts of forebrain are:
A. Thalamus and limbic system

B. Cerebrum, limbic system and thalamus
C. Thalamus and cersbrum

D. Cerebrum and limbic system

Q.100 Which of the following Is NOT a function of Smooth Endoplasmic Reticulum (SER)?

A. Synthesis of steroid hormones from cholestercl.
B. Detoxification of harmful drugs.

C. Synthesis of phospholipids for plasma membrane.
D. Synthesis of membrane proteins.
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Q.101 Which of the statements correctly describes why lons are unable to cross the
plasma membrane without channel protelns?
A. They are unable to cross the hydrophilic phosphate heads of the lipid bilayer.
B. They are unable to cross the hydrophobic tails of Lhe lipid bilayer.
C. They are unable to cross both the phosphate heads and fatty acid chains of the
lipid bilayer,
D. They are too big to cross the plasma membrane.
Q.102 Identlfy the characterlstic of acoelomates?
A. Absence of mesoderm
B. Absence of brain
C. Coelom that is incompletely lined with a mesoderm
D. Solid body without a cavity surrounding internal organs
Q.103 Nervous system of nematodes consists of which of the lollowing?

A Veniral nerve cord B. Dorsal nerve cord

C. Lateral nerve cord D. All of these
Q.104 Example of bacteria requiring low tunrtntmﬂun of oxygen Is?

A Spirochete “B.e cul:

C. Pseudomonas / D. Campy Elbncter
Q.105 Which among the following is a d[]lhl:l‘h!lll: urganism"

A. Hydra B Crabs h\

C. Squid D Earthwnnn‘“m
Q.106 After fertilisatlon the z]"gnle creases In size and travels ﬂm the F alloplan
tube to become embedded [n h:li.‘ walls of the wmﬁb T]:lls [I:I‘DEH!I; called:
A. Ovulation /'1, \ \ B. Cuucepuuu_
C. ImpIamntmn <, i | . D. h'[cnstnmne’:;:?
Q.107 Inheritance In man Is trnced bvwhl-:h ol the I'ullnwln o
A Mathegiatical methiod \ | B! Statistical method
C. Ge-nm:: method " D. Pedigree method
Q.108 The |:|:|::1|:| unit of the thick l'[lﬂma[
A mggbnx _ a7 B Zine
CH Mjrnﬁm — l D. Actin
0.109 All of the following are the current preventive methods of HIV Infection,
excepl? il |
A_ Safe and prulccted ||fesl}r!e
B. Use of sterile mjectmns afd needles
C. Use of available v aceines
D. Safe blood transfusion methods
Q.110 The hinge Joint and ball and socket Jolnts are the types ol:

A. Freely movable joints B. Slightly movable joints
C. Immovable joints D. None of these
Q.111 For attachment, rables virus binds to a
A, Complement receplor B. Integrin ICAM-1
C. Acetvilcholin D. Epidermal growth factor
Q.112 Which of these Is a characteristic ol prokaryotic cells?
A. Absence of cell organelles B. Absence of nucleus
C. Presence of 708 ribosomes D. All of these
Q.113 A common polyhedral capsid shape of viruses Is a?
A. Pentagon B. Cube
C. Icosahedron D. Pyramid
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Q.114 Which of the following Is NOT a characteristlc feature ol tapeworm?
A. Each body segment has two sets of male and female reproductive organs.
B. The digestive tract develops from endodermal cells in the embryo.
C. The body can be cul into two parts, which are mirror images of each other, in
one plane only.
D. None of the above,
Q.115 HDL syntheslzed in ___

A. Adipose lissue B. Liver
C. Intestine D. Liver and intestine
Q.116 In Anaerobic respiration only _____ % of the encrgy present within the
chemical bond of glucose Is converted Into ATP?
Al B.2
C.3 D.4
Q.117 The event happens In menstrual cyvcle when level of progesterone declines:
A. Ovulation B. Beglnnlng ol menses
C. Corpus Juteum formation D. Mmumnuu of avarian follicle
Q.118 Metacarpophalangeal jolnts are e::mpln of:
A Saddle joinl / L\B L"crudjrlmd joinlt
C. Ball and socket joint /’J ~D-Hinge joinl

Q119 The Urey-Miller experiment determluai whltll of the-fallowing results?
A. DNA replicates by scmlcansen'mn ¢ rephcalmn x"‘“ﬂ«“-- h
B. Cyanobacteria were responmbl-. for the nt}'gr.nutmn of the nhnusphcre
C. The early atmosphere was compus.ed of ammonia’ and methane
D. Organic mnlecu]e:'t can arise fmm inorganic precumn\}S —

."--'
Q.120 Growth and d:velupmenl n[pl;am u-lls is the role nf’

A. P:ur:nchmntnus cells \\ H\‘B Clllurenchj'mnmus cells
E—
C. Me-nstemnnc cell e D. Sclerenchymatous cells
Q.121 The :umpn:lllan of brain :Itm h.
ﬁ. Spu:laI cord, axon, ‘rE‘ﬂEhﬁ] N B. Cerebrum, cerebellum, pons
G Medlﬂa pons; lmdhmn\ “. 7 2D. Thalamus, midbrain, pons

Q.122 Wh]:h of the l'ul[uwing Is hﬂ]‘ an tI'.I.I!I[lIE of evidence supporting the
endosymblotic théory? i
A. Mitochioidria and other ]ﬂashds multiply by binary fission.

B. Mitochondria- tuntﬂm their fr’wn DNA, which is a single circular chromosome.

C. Mitochondria have theic 6wn ribosomes, which are 70s.
D. None of these |,

Q.123 To forma [rmnh; zygole, the sperm cell must coniribute which chromosome?
A X B.2X
C.Y D. XY

Q.124 Your neighbar has a Mower garden in which there are red Dowers and white
flowers. These flowers are diploid organisms, and flower color Is an
autesomal tralt, The gene for red flowers (R) Is dominant, while the gene lor
white flowers (r) is recessive. Which of the following could be the genotype of
a red flower?
A Rr B.RR,Rr, orrr
cC.m D.RR or Br
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PHYSICS

0.125 For step down transformer Ns

A. Equalto (=)
C. Greater than (>)

Q.126 In series circult, current remains?

A. Same

C. Sometimes same sometimes different

B. Less than (<)
D. Not equal

B. Different
D. None of them

Q.127 Identify the de Broglic expression from the following.

A l=hxp
C.h=htp

Q.128 Basically, a potentiometer Is a device lor

A. Comparing two voltages

C. Comparing two cuments
Q.129 CosB = &/

A BA

C.B

B.2=h/p
D. i=h-p

B. Measuring a current
D. Measuring a voltage

A
B.A

DB

Q.130 What does the constant N rtprtsml ln the rquallun ‘ol state for an Ideal gas

PV =NKTI?

A Number of molecules of gas <

C. Number of nucleons

'\.“‘\

B: Numbf:r nf moles of the gas

WD theﬁl‘pmmns

Q.131 In a stationary wave, the distance heh'reen u'ljncent anl‘.lnndﬂls Equal to:

A d ~
C.L2 A

Q.132 The prﬂen:e of :Iinl:'rclri: I}etwmn two charged partl:lu'

A. Reduces the e]i:ttmstauc fm -y
C. Does nnl chnnge El:ctruahm: E:m:c

B. Increases lhe electrostatic force

i Sy Duublcs"lhe electrostatic force

Q133 A lemperatul:e of162Cls aquiwlent to what lfmpernlure In kelvins?

A.:" IH'K"
C,dl"K

|

Q.134 “’ﬁk_‘h elemml has lhru' lsnlupuﬁ

gfl' / . \ \

BJG"I\
D 111K

B.O
D. None of these

Q.135 If the nuclear radlus of A7 is 3.6 [m, the approximate nuclear radius of Cu®

in ferml Is \“‘1\:":}’/
A.12gm \
C.3.6 fm v
Q.136 Halfl wave rectlfier uses
A. One diode
C. Three diodes
Q.137 Lasers are produced by
A. Stimulated emission
C. Absorption

B.24fm
D.48fm

B. Two diode
D. Four diodes

B. Spontaneous emission
D. All of these

Q.138 An electric Mlament bulb can be worked from

A D.C. supply only
C. Batlery supply only

B. A.C. supply only
D. All above

Q.139 11110 .J heat Is adied to the system and 403 work is done, then amount of

work done s
A.T70]
C. 1907
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Q.140 The existence of posltron was discovered In the

A. Thermal radiation B. Cosmic radiation

C. Electromagnetic radiation D. Non-electromagnetic radiation
Q.141 An object moves 20 m in 5 sec. Whalt Is the gradient of the displacement-time

graph?

A.25 B. 15

C.4 D. 1/4

Q.142 Equal masses ol parallin and walter are mixed In a contalner of negligible
thermal capacity. Initial temperature of water Is 80°C and that of paraffin is
20°C. The final temperature of mixture is:

A.70°C B. 60°C
C.50°C D. 40°C
Q.143 What happens to the Nux il applied magnetic field Is doubled on the same
surface?
A. Becomes half B. Be:umf:s twice
C. Becomes infinite D. Bm:umcs 4 times

Q.144 Under what conditions of temperature m:ufl prmhn: does a real gas
approximate lo an kleal gas?
A. Pressure = low temperature = low
B. Pressure = low tempemrure hJEh Q=
C. Pressure = high tenlpemm:re £ low :
D. Pressure = high temperntum_ high

Q.145 Centripelal acceleration Eh:l.l}'i acts
A, Away Y 4 '
C. Normally .

Q.146 The phntnn Is the parﬁcle whlnh lmr\-\

llii! center
B. Towards™—

A. Infinite rf.-st mass g Resr'mn'ss but no charge
C. Norestmnss & no chm‘gc D A& C are correct
Q.147 CIIIc:l:lJaIE the frequency ul'[llmll:m Hsnti:led "ﬂ‘lth 500 nm wavelength
A B — A
A—""&L‘] (14) Hzm — »B.6x 10%14) Hz

(‘?xlﬁ"{l#}Hz P N | D.9x 10%{14)Hz
0.148 A I:odjr mm‘lng along the drcuml'erence of a clrcle completes two revolutions.
If the radIiis of the :Irtl.l]zr p:llh iIs R, the total angular displacement covered

is?
A.mr B. 2ar
C. Zero - D. 4n

Q.149 Which of the following Is the unit of mutual Inductance?
A. VsA© B. VsA®
C.V's D. VsA'!

Q.150 What will happen in a time of 7 hours, il a radioactive substance has an
average life of 7 hours?
A. Half of the active nuclei decay
B. Less half of the active nuclei decay
C. More than half of the aclive muclei decay
D. All active nuclei decay
Q.151 Ampere's law Is [B.dl=
A ul* B. w1
C.ul D. 1t
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Q.152 In a standing wave, the distance between a node and consecutive antl-node Is:

A. Equal to one wavelength B. Equal to two wavelengths

C. Equal 1o half of wavelength D. Equal 1o quarter of wavelength
).153 Transistors can be used as

A. Half wave rectifier B. Full wave rectifier

C. Both D, None of these
Q.154 At which angle work done Is masimum

A. 45-degree B. 90 degree

C. D-degres D. 180 degree
Q.155 Which of the following blocks will release heat fast?

A. Rough white surface B. Palished white surface

C. Rough black surface D. Polished black surface
Q.156 For clockwise rolations direction of angular velocity Is

A Positive B. Negalive

C. Zero D. Infinite

Q.157 An adiabatic change Is the one in which: ,-/
A_ No heat is added to or taken out of a syslf:m? -
B. No change of temperature takes 11].-1.':.'1'!r
C. Boyle's law is applicable l Ty
D. Pressure and volume rem:lms mnstm:ll

Q.158 Which radlation Is used ln grﬂ-nhouse eﬂeﬂ'{ o

\K—.\\

A. UV ,-:‘.r _ Bim\ .HH—‘-'-.__-"
C. X-rays | D. Gamma-rays

Q.159 What is the 51 Unit ul'l’ulmti:! difference? h N
A. Volts L iy : B. Cnululnh

C. Meter | oo S D Newton's

Q.160 A capatllnr stores ch:!rgeQ ata pulmli:l dI[[mnce AV. What happens If
the Wltngt I]!.lpllﬂl to the r.-ap:tlior by a bnl!ar} fs doubled to 2 AV?
ﬁ. The capacitance faJJs to halfits initial valué, dnd the charge remains the same
H The Eacﬂmﬁd the chmebmh‘i'a;m half their initial values
C. The capacitance and the :ha.rgt bulh double
D. The capamtnuct";;r.ﬁ‘ams the' same, {nd the charge Doubles

Q.161 For ugn]n?';:celurnllun ;l*nclm'hc retatlons means torque s
A. Positive ~ 4 B. Negative
C. Zero }““_/ D. Infinite

Q.162 Superposition of h\ pwaves having same frequency, same amplitude and
travelling In the uppns[le direction, Is called:

AL Interference B. Diffraction

C. Beats D. Stationary waves
Q.163 The minimum charge on an object cannol be less than:

A 16=10"C B.9x10°C

C.olxl10?C D.16x 107 C
Q.164 A full wave rectliler passes into positive cycles

A. Lower half cyele B. Upper half cycle

C. Both cycles D. None of them
Q.165 UV radiation Is formed by bombarding gas molecules with

A_ Electron B. Protons

C. Alpha rays D. Any of Lhese
Q.166 The role ol Inductance Is equivalent to:

A. Inertia B. Force
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C. Energy D. Momenium
Q.167 efm ratio for a electron in electric and magnetic Oeld Is

A em=B"r/E B. E/{B*2r)
C. E*2B"2 D. B*2/Er
Q.168 A body at temperature T radiates heal according fo relation
AT B.T'
c. T D. None of these

Q.169 In a rectifier, larger the value of shunt capacitor filter
A. Larger the peak-to-peak value of ripple voltage
B. Larger the peak current in the rectifying diode
C. Longer the time that current pulse flows through the dicde
D. Smaller the dc voltage across the load
Q170 A sound wave has a wavelength of 0.20 m. What is the phase difference
between two polnts along the wave which are 0.65 m apart?
A D B. 45:,'
C. o0 D. 180°
Q.171 A 220 V main supply [s connected to a rcﬁlstanu 100 k ohms. The effective

current Is l\;_z 9 N
\"'\-g‘ " “\:."H.
A.22Ma L AN

C.22x+2mA [ D Nunuﬁthc above
Q.172 Oil draoplels ol mass m, and th:lrge fq are tIruppeQIJm\ een two !mriznul:l

parallel plates. Alr rcslstnnce ls negligible. The drnplm are Inlllug at

constant wlnclt} 'rrlu-n electrll: field strength heh'run Mlatﬂ is E- Which

of the fnllmrlngh trlu"’ |y \I
A. E=0 \ = ~B. Eim_g_gq
mg?q - D E>mg/ q

Q173 The X-rarphulunh uncl'rhhlwhen iths /
bsorbed

A. E:mued \
/,f”'_""‘\\\ ~>D. All of these

C. ‘]"m clmg

Q174 A Iurnel-r— (0.5x +]ﬂ] N acts ona partlcle. calculate the work done by the
force In dlsplatlng |mrt[:1u from x=0'10 x=2 m

A.203 — } ] B.21J

C.22] ~ /,z " D.23]

Q.175 A statlonary waveis setupon a string which Is fixed at both ends. The
frequency of lhe rmu’ ﬁuu Hz. I the speed of wave Is 480 m/s, then what Is
the length of the 5lrlng

A l2m B.0.84 m

C.060m D.042m
Q.176 The lonization power of ____ ray is highest

A Beta B. Gama

C. He-Ne laser D. None of these

Q.177 Calculate the time taken for the charges to complete the circoit if the total
charges were 5000 Coulomb and the current of the circuit was 20 Amp?

A. 250 seconds B. 350 seconds
C. 400 seconds D. 500 seconds
).178 Instantaneous velocity lor a displacement [unction d(t)= 2-2t at any time is
given by
A -2t B.21
C.2 D.-2
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Q.17% During an adlalatic process pressure of gas Is found to be proportional to the
cube of Its temperature. The ratio of Cp/Cv Is

A2 B. 44319
C. 44257 D. 44289
Q.180 The angular acceleration has units
A. rad/sec B. sec/rad
C. sec? D. None of these

ENGLISH

Q.181 Aslam and his friends were making oo much noise. Their father got really

at them.
A. Afraid B. Angry
C. Kind D. Strong
Q.182 anyone a peneil I could borrow?
A. Do... have B. Does.. have
C.Do.. has DD[I:‘I.'S has

Q.183 Choose the correct sentence. AL
A. Dr Hussain works al city hospital in gu!berg
B. Dr Hussain works at City Husplul mG
C. Dr Hussain works at City Haspllal mﬁulbﬂg -

D. Dr Hussain works al CIW hﬂﬁpltﬂl n G'-l.llherg

belonged to. N | ‘ . 4
A 1found this banglé \1' |

B. while digging '1 '

A e ""\.._‘_
C.inthe back yard. . . \
D. I don't knuw who it hrlu‘nﬂﬂd o,

Q.185 What Is ;vmur name? -

B!. Impernlive

Al Dec[amtwc\

C Il]!erm::nm e_ . »——>—D. Exclamatory
Q.186 Children usnnlly a uuLw ' /

A. Made ; N l B. Makes

C. Are making J | D. Make
Q.187 Most of the milk ______ gone bad. Six gallons of milk still in the

refrigerator. \““:‘:-3"’ :

A. has... are 1\-& > B. have.. is

C. has.. is ' D. have ... are
Q.188 Choose the correct spelling of the word

A. Doen B. Dun

C. Don D. Done

Q.189 Choose the correct sentence.
A. After class, but before lunch. [ went jogzing.
B. Afier class, but before lunch I went jogging.
C. Afler class but before lunch. I went jogging.
D. After class, but before lunch, I went jogging!

Q.190 In most coontries, children start primary school the aze of six.
A in B.on
C.al D. 1o
0Q.191 Which brand do you » Honda or Tayota?
A. Rather B. Eat
C. Prefer D. Wear
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Q.192 Rectify

A. Correct B. Preserve

C. Repeat D. Justify
).193 The baby cried most of nighl

A a B.an

C. the D. no article
Q.194 1 would love to be able to swim I[ 1 am not afrald of water.

Al would love B. To be able to swim

C.I{ I am not afraid D. Of walter.
Q.195 Which verb Is NOT In the foture tense?

A, Hewill go B. He will eat

C. He will work D. He eats

Q.196 Find the error?
A. It has not rained since April.
B. The jurors walked solemnly into the room. /
C. Had we known, we would not have come.

D. No mistakes I D
0Q.197 Not only the students but also Ihelrlnin'utmr D bicen called to the
principal’s office. i :
A. Has N
C. Were '

|
Q.198 Choose the correct senlence.

A. Mr. and Mrs. Jalal stated, '\tefuse to use ﬂJE'e_wﬂlﬂr because of

mechanical pmhlem:s “ I'1| | -

e { Ve 7 a
B. Mr. and Mrs. jnlnl stated, “we réfuse to use the elevator because of mechanical

pmhiems ‘, - “‘mm Y,
C. Mr u.nﬂ Mrs Jalul 5!5!&1. "We refuse to use th: elevalor because of mechanical
pmhlrms

D M.l' and Mrs Jalal stated we n:ﬁ:&: tﬂ use LLE elevator because of mechanical

[n'l:ll:lll:l:l:ls . \
Q.199 Whuhf i — lady //plclure"

A.the.., d B.a..the

C. the... ""'/ | ) D. the... the
Q200 Choose the correct spnl]lng of the word

A. Aniversary ' e B. Anniversery

C. Anniversary D. Aniversry

LOGICAL REASONING

Q.201 Fact 1: Avesha sald Hamza and 1 both have cats
Fact 2: Hamza sald I don’t have a cat
Fact 3: Avesha always tells the truth but hamza sometimes Lies
Il the above three statements are [acts than which of the lollowing statement
will also be a fact
L Ayesha has a cat
I1. llamza has a cat
ITI. Hamza is lying
IV. All the statements are the facls
A.Only 1 B.Only Il
C. Only Il D. Statement 4
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Q.202 Statement:
There has been an unprecedented Increase in the number of successful
candldates In this year's School Leaving Certiflicate Examination.
COURSE OF ACTION:
1. The government should make arrangements to increase number of seats of
intermediate courses In existing colleges.
I1. The government should take active steps to open new colleges to
accommuodlate all these suecessful candidates.
A. Both of them follows B. None of them follows
C. Only I follow D. Only 1I follows
0.203 Statements
L She topped In her collage
I1. She Is hard-working
A. Both siatements are of some common cause
B. Statement | is the cause then 2 is its effect A
C. Statement 2 is the cause then | is its effect.”
D. Both of the statements are effect of iudtﬁeﬁdeﬁi_ causes
0Q.204 Statement: y d Y
The avalilability of imported fruits has inl:rnasedﬁl__ll lhe lndlgnnuus market
and so the demand for Endiuennus l'rlllls has been lil:rrﬂ:l“d
COURSE OF ACTION:  / \\ . N
L To help the Indigenous pmducen of frults; the Gm ernment ulmnltl Impose
high import duty on these lh'lils. even if these are e'not of guml qu:]lh
II. The [ruit wrulnrs shuuld stnp selling !mpurled I';'\uil.s So that the demand
for indigenous [r-ulls wauld ‘bt lntrmsed. 1|
A. Both of lht'm follows: ‘\“*B Nnm: nf' them follows
C. Onlyl ru11m-..=. N\ -.D unl:.r it fnlqu.s
0Q.205 “‘hl! sl:nuld come next o Cnnrnuud, I]l[lcﬂlc, BE“ lder,...

ﬁ.h.md : \E Unlearned

& I"-ﬂn'ﬂal _ ‘D. Disable
Q.206 Flrst siep tep in gra phl ng linear equa I:Iun Eto
A. Connect two, points \ . B. Extend straight line
C. Identfy and plot L'uurdmalcs D.Both Aand B
Q.207 Complete the series A ACD AGD AlID, ?
A. ABD : B. ATD
C. AND V D. AMD
Q.208 What was the name ol Imam Bukhari (R.A)?
A. Mubammad bin Ismail B. Muhammnd [smail
C. Muhammad [brahim D. Both A and B

Q209 IT -’ means '+, *+' means *-", %" means ‘=’ and ‘=" means *x* then which of
the followlng will be the correct equation?

A+5+14-10=15=122 B.10+5-14+10x15=158

C.30-5+14+10= 15=162 D.30x5-4=10+15=31
Q210 Complete the series A33,B6.6,C%99, 7

A.DI34 B.Dl13.2

C.DI13.] D.DI3.2

As we know there is lot of mistakes in answer keys of
PMC Practice tests, so I have decided to rectify all in

proper in SKN STUDY GROUP
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